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thelr AIEER (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OREE 21 100,000,000 * 14 100,000
OKTX - SRT OHAHE 210
17,500,000 & x4 & 70,000
OEr2E=(L2/HI0IE) 21
10,000,000 3 30,000
OsS4t2 Al sS4 20
800,000,000 14 800,000
O=S4t2 2240 22 0BHE
23,000,000& x203] 460,000
OUESAIXNSY 22X 22 10|
750,000,000& * 14! 750,000
OANE EE ZOQIE, X S)
700,000,000 14 700,000
OJIEST 28 (ML)
200,000,000 14 200,000
405 KR SHI 53,000 53,000
01 ML SEFHSHI 53,000 53,000
O0l=sal FaEy &l ¢
15,000,000 & * 14! 15,000
OAME FaEE ZHl 2
10,000,000 14! 10,000
OAHEl &t SFAIAE AEL2|X WX
25,000,000 14 25,000
OMZ.Z& BHE XY HE
3,000,000 14 3,000
=OICIGE 88t NEEE 222,360 215,360 7,000
201 Let2| 15,960 15,960 0
01 Ar22teltl 15,960 15,960 0
OIPIRLE X4 &8 AHlA
16.5%*12,000F *203| 3,960
OSNS 28 BH= S2d AAt==Y
20,0003 *4 B x1021 %23 1,600
ONS EE2ES HME 20,0002 x20H 400
OSNS JHEIH g0y 22| & &3
5,000,000&*23] 10,000
301 LB F 51,400 47,000 4,400
11 SHAIAHIXI A2 7,200 7,200 0
OSNS E2CH AP 2 AlH| B4
90,0003 *20F *13] 1,800
OSNS 22¢& 319 &4 o] X
90,000 * 15 *43] 5,400
14 JIEt2 43 44,200 39,800 4,400
OSNS £2& J1s
120,000 x20H * 123 28,800
OSNS OIHIE &AL D€
10,0003 *100Z 63| 6,000
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OsNs 2EH= 22 (=201)
9,400,000 *14] 9,400
303 Z&=s 5,000 2,400 2,600
01 o= 5,000 2,400 2,600
OSNs 2= Z2H(AJH)
3,000,000 *14] 3,000
OSNS E8 @+FA - A2 2o
500,000 x2 1§22 2,000
308 AHXIEMSOIH 150,000 150,000
18 SIS0t & A AS A 150,000 150,000
OSNs 22 28I= JHeg & M
50,000,000 x 14 50,000
OSNS S& ZE= MH & 82
100,000,000 * 14! 100,000
HESIAN (LB SSHE/LBHE) 3,364,401 2,725,960 638,441
= 18,815
Al 3,335,586
= 10,000
aH H=23 4 2,939,715 2,494,761 444,954
= 4,735
Al 2,934,980
YL 2e| =A 1,564,158 1,390,942 173,216
201 er23| 1,332,743 1,155,088 177,655
01 AtR2t2|HI 660,937 562,890 108,047
OttolelA olgtZ= )8 & LHPCKIZ|0 & 48,600
—LFg 37,700,000 * 14! 37,700
—HI2H2H(CCTV2H M HIES )
4,600,000 * 14 4,600
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OZELe & IUEEES WS 4,000
—Sgus ZAE 1,000,0002 *22] 2,000
— KIS A A S (SCLS)
125,000 * 16| & 2,000
O&etEH gXt= 200,0003 *30CH 6,000
O LEHl ==4Hl 30,0002 50CH 1,500
OHMEHl ARF FY(UTPHOIZ, HHE S
) 70,0002 *155+32 3,180
Ozl ELH(HEAAE SERIES) 595,587
—ClIOIEIHIOI A2t A AEL(DBMS) R AIE==H] 24,645
PSUSESRALE 2 35
160,031,000& *14/100%1 .1 24,645
—Ol=RI0 R4 220,059
ESUHSESRALE 2 BB
2,500,669,0002 *8/100%1. 1 220,089
—AHENH =AEH 132,675
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— 2ol RAI2=H| 218,208
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1,983,707 4%10/100%1.1 218,208
OHIIEEAIAE SERANES AORE
1,500,000 14 1,500
OAZENHAIY MRS =
100,000 3 »23] 600
02 S3=gHl 671,806 602,198 69,608
OCIEHAIZR 367,080
~HBY(2H, NYCHZ, SLTAHB)
1,800,000& «12& 21,600
RS (H2|B, AYL, SHE)
380, 0002 672] &* 12 305,520
— Bl 30,0002 1112 &+ 128 39,960
ORdolgu(S32A01T0NelId=
33,000 *1982| &+ 123 78,408
Oty HHL20IY HE AMEZ
400,000 12 400
O#FFE L0l WS MSZ(UMS)
3,800,000 ~12& 45,600
Ogste ArZZz 300,000 * 122 3,600
OHESPC AIEE 1,500,000& «12& 18,000
OloTd& & A=
5,500 x285CH 12& 18,810
OloTd & S22 0=
751,000& * 122 9,012
OloTd 2 0|8 &XI 200,000 +5CH 1,000
OCIXIE MHIA OIZE(BEAAY 22t
c018) 82,296
—UE SHOIX 2 35
6,858,000 ~12& 82,296
Oxatal Ald RRI2=
500,000& 122 6,000
OXMEH HLEZ20Y &X & XIZ0|
& 30,0002 *200CH 6,000
OMIEEES £ofitide MSEE
14,000,000 * 14! 14,000
Odite LEHMAYX FEX wH
360,000 *60H 21,600
308 AHXIEMSOIH 211,415 191,854 19,561
18 SIS0t A AS A 211,415 191,854 19,561
O2-Lict 2.0 EMAIAE S22
60,431,000 *14] 60,431
OXXIEH sSI1et & HH=STZAIAE R
X2l 117,079,000 * 14! 117,079
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S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OXNLHYSSHZAIAY SdEHH FA2
el 7,250,000 *14] 7,250
OZEESHA & At
16,000,000 * 14 16,000
OAOIHES THE e 23t At
10,655,000 * 14! 10,655
401 AlZHIZ SO 20,000 20,000
01 Al&H| 20,000 20,000
S3H0/IH0| =
20,000,000& * 14 20,000
SAHEHl B2 1,203,755 953,399 250,356
201 fer= 3| 250,135 203,907 46,228
01 AtR2tc|HI 250,135 203,907 46,228
OgRE 2ZE0 +E 250,135
—atd IlA 112,500 #4500k 50,625
—MS 2IlA 292, 5003 *350H 102,375
—O0l0IX#E 610,0003 *20H 12,200
—sg4Ed 1,430,000 x2H 2,860
—EHEHEY 700,000 *92H 64,400
—CIOIEHIOIA 2elZ2 e
275,000 «6H 1,650
i BPNRIE= = 670,000 *3H 2,010
—NS 2H= MZE OIDIAl ctoldA
1,677,000 *1H 1,677
—&EAHA T2 670,000 x2H 1,340
—AEEIAA Z2 -
3,666,000 *3H 10,998
207 ARl 108,000 47,328 60,672
02 MAHHEH] 108,000 47,328 60,672
O2MEHORMAIAE WA
100,000, 0003 * 14! 100,000
OArETISE 22l AIAE Jtatsl Ab 0l
= 8,000,000 *14] 8,000
405 AHatE = 845,620 702,164 143,456
01 ML ESFSHI 845,620 702,164 143,456
OgeEs duaaH 2 397,000
—QA3s 1,300, 0002 *250CH 325,000
—2ZLIH 300,000 »160CH 48,000
— X2l 600,000 *30CH 18,000
—LES 2,000,000 *3CH 6,000
OdHEL L4ARIX| wH|
27,270,000 =2CH 54,540
OBHIZ2A #HHEFE 2S3HEHI(VWPN) 7
4,000,000 *13CH 52,000
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el E F2s =& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ2Hel UWERA AAX WA
4,289,000& 12CH 51,468
OHIEE SSIIISFANAE NHHSHE
138,000,000 * 14 138,000
OsSHs HULXIAIAE(IPS) WA
46,292,000 »1CH 46,292
O=% Yaty Wi 27,530,000 »2CH 55,060
Oddtd gzats)| Wil
36,100,000 x 14 36,100
Oxtta Sotet (CIVESE A =
11,000,000 = 1CH 11,000
OPHTBA WEHD EHIE 2 79
320,0002 = 13CH 4,160
A Ee 59 B 10,540 17,540 /7,000
201 er23y| 10,540 10,540 0
01 AtR2t2|HI 10,540 10,540 0
ON 258 2 ¥25 DS I
15,0002 x232 +87| 2,760
ONY RES U H5 DS AR
50,000& *12A12++87| 4,800
OZEUsE AFESHI
50,0002 123 600
OZE=usd 212 +=HH| 2,380
~2EH +2
100,000& *23CH*32]¥20/100 1,380
—Z2IE =2
100, 0002 *1CH*22]+50/ 100 100
-T2 &Y 200,000 *1CH*23 400
—FEZHE £¢| 500,000 1CH 500
CIOIED|ErlE =&l 145,480 116,500 28,980
201 2= 117,080 54,500 62,580
01 AtR2t2lt] 117,080 54,500 62,580
OUI0IH =48 alZtHole 2
50,000,000 * 14 50,000
Otlold g& oIt 32d 7,000
—gMN=E 20,0002 x1024%10H 2,000
—XAH S E2HIS
5,000,000 *14 5,000
OUIoIH S&2el MA 2=
22,000,000 » 14 22,000
OdMeE Al 2ol A 2
460,000 487K 22,080
Oddg Al 2292 23
13,000,000 * 14! 13,000
OdEE Al €& A2 39 23|
3,000,000 *14! 3,000
207 ARl 22,000 52,000 30,000
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14 JIEt 23 5,000 10,000 /5,000
OUlole && Ot0ILInNEZ2E Aldds
5,000,000 * 14 5,000
303 Zal= 1,400 1,400
01 2= 1,400 1,400
OHLEAl 23 2 ZaS(HY)
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(E)H2 SS2A0IM0l YR2S(IHEF ) 15,782 16,380 598
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Al 11,047
201 fer23y| 16,782 16,380 A598
= 4,735
Al 11,047
02 S3=gHl 16,782 16,380 A598
OtA SS201TH01 SXt 282
15,782,000 * 14| 16,782
& 4,735
Al 11,047
AL =8 424,686 231,19 193,487
= 14,080
Al 400,606
= 10,000
SH0IX 29 99,910 114,637 A4, 727
201 el 39,910 34,110 5,800
01 At2telt] 26,790 0 26,790
Oz & #1383 &4 =2 900
—GFA AGEE3 23
100,000& 5 *13] 500
—ZGFAl HUIOIH?IAZ
100,0003 4 & x13] 400
O82a & A3 &4 0] 810
—gAl NS EEstg 23l
90,0003 5 *13] 450
—EFAl 2UI0IEH A2 2
90,0003 x4 *13] 360
OZelEYHI(SHOIX S8 |XE2=)
190,000, 000& *12/100%1.1 25,080
2 35234l 13,120 34,110 A20,990
OSHIOIAl 221015 MEIA AL
600,000%*2§| 1,200
OSHIOIXI 2IZ2t0101E AISMHIA AIESE
550,000 <22 1,100




SN SREA
A FESIANG (LSS /L)
oels ASdEEst =0 (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OZHI0IXl Jls =t
2,000,000 +32 6,000
OQIES! Oel D2t 2 A7 S5 HIE 4,820
—s=2=0e! 40,0003 *1027H 4,080
—J2&nel 31,000 *20HK 620
— &0 60,0002 *2H 120
207 A0 22,000 25,000 A3,000
02 HAHE] 22,000 25,000 A3,000
OAEAARI(36.58F) & ALY 3=
22,000,000 * 14! 22,000
405 KHAHE SH 38,000 55,527 A17,527
01 TR ESF SHI 38,000 55,527 A17,527
OARY EHAUXIAIAE(IPS) X
38,000,000 *14] 38,000
ARl BE35E ALY =& 230,340 17,900 212,440
201 L2 20,340 17,900 2,440
01 AtR22te|Hl 20,340 17,900 2,440
OXNSEEst JIZ2AE RAIottE
1,500,000 *14] 1,500
OXSEEst JIZ2HE MM EIOtRIE ==
g 200,000 *10H 2,000
OARIEES s Wil
15,0002 +2323 +87| 2,760
OANgIEEs Ws IAME
50,0003 *16 Al 2++87 6,400
O=FREHEO0IEAIE ARESH
50,000 *12& 600
OFQEZ0ISAIE A2 =4H] 5,080
—AFH =2 100,000 x29CH*20/100 580
—IgH =2 100, 0002 *18CH+*50/100 900
—IgH &Y 200,000 x18CH*13] 3,600
OXSEHEStAIHH = A M2
20,0002 1005 2,000
207 AN 210,000 210,000
01 = 90,000 90,000
OXSEEs JI2H & =8
90,000,000 x14! 90,000
02 &ADHE] 120,000 0 120,000
OQZXs JIgt DIFASFAAR 2=
120,000,000& * 14! 120,000
(2)B2s0te T2 22k |4 50,264 49,572 692
= 12,080
Al 28,184
= 10,000
307 212t01 & 50,264 49,572 692
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01 At2teltl 16,912 5,000 11,912
ORI BES(HU, BE S) M
uf 1,500,000 *20H 2 3,000
OZE=lE WUE ZAME
50,0003 20 Al 2201 2 2,000
O&=Zsiotg E24H A2 4] 3,200
—Z=H, Z2UH =
100,000 122 *20H A 2,400
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2 222 2,000 16,670 A14,670
OFBE0IE AL SR2%
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OzEs0E T2 2|t ns ot
90,0002 x2EH *22|x20H A 720
14 JIEt2a3 7,000 7,000 0
OB 230t &AtatHeH Bl X2
7,000,000 27K 2~+50/100 7,000
307 glztol & 3,760 3,760
02 LB HAHE L 3,760 3,760
OZ=230ts HAE/EM/ANHNHEH S &
ot N (EXS 80%)
4,700,0002 *141+80/100 3,760
(D)d=2sotsHe 2 st 10,000 10,000 0
= 2,000
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< 2,000
A 8,000
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= 2,000
A 8,000
SaEel (LU B ReE /AU EE) 91,676 503,767 426,089
sawe %1,676 503,767 428,089
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Al 78
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Al 30,454
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= 490
Al 1,143
— A2 R
83,2802 *3ZH 282 x70.002% 4,898
& 1,469
Al 3,429
— ALK R 2| Kt
80,2403 *1H«282 *70% 1,573
= 472
Al 1,101




SN EREAA
¥ SHAZAHLEISSHY/LEHE)
Rl SHZAL EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
R NEEEE
80,2402 x4 x192%70.004% 4,270
= 1,281
Al 2,989
—4UES 1,389,000 *14] 1,389
== 417
Al 972
201 er23 | 29,743 32,34 22,611
= 8,923
Al 20,820
01 AlR 21| 29,743 32,354 2,611
Y=} EIN 29,743
~CIENE 4
80,2402 x 192 *2624%70.001% 27,748
== 8,324
Al 19,424
~S2XAY DEY|
6,000 19252 70% 1,99
= 539
Al 1,3%
TV 2 % 2(SSEANXA /T - 212S) 5,254,487 4,271,389 983,098
v 28 £ 2el 5,254,487 4,271,389 983,098
CTv SE2HHE 29 3,431,274 3,047,389 383,885
101 @124H| 969,345 949,686 19,659
M ORINZZ2NSE S 969,345 949,686 19,659
OJItNZ22HsSEs 969,345
—QlA4H| 3,071,780 x24H 123 884,673
=1 294,000 x24H 122 84,672
201 et 3| 1,620,429 1,367,703 252,726
01 AtR2tc|Hl 604,399 439,705 164,694
OCCTVESE 2 MIdIE 2t
1,100,000& x12& 13,200
OAarl =&l 2,000
—=SAD| EY 200,0002 *1CH+32] 600
—PC #=clHl 100, 0002 x40CH+20/100 800
—JIEt 2=clH| 50,0002 122 600
OSS2NE dJ] X2
54,000 »2CH =128 1,29
Ozel28SdI(CCVSE 2 MeH AL 22l) 31,164
—&D| oM e Y|
270,000& +82 2,160
—AY ormBR| B
300,000 «8& 2,400
—520| |Al&el 9|
270,000 82 2,160




SN EREAA
M (V29 U RRl(RTIALOHE /T - 2I)
s TV 28 & 2l (EEEE))
= - L=
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
—ZHIME EA 29|
12,544,000 3 14| 12,544
— A4 | 01 E9|
9,500,000& * 14! 9,500
~SOIAHIAIAE 2o
300,000 81 & 2,400
o289 HI(CCTV RX2%) 56,250
—A0E= Itoiet
1,650,000+ 15CH*7/100%1.1 1,906
—ot& Jtict
1,350,000 *90CH*7/100%1. 1 9,35
—=28 Jtiet
950,000& *615CH*7/100%1.1 44,988
O S| (ZHAIAE SX24=H]) 500,489
—HWZHAYH, HEEX S)
1,842,431,999& x7/100%1. 1 141,868
—HIEKZ FHI(L2, L3 ARIXI S)
114,779,939 +7/100%1.1 8,839
—SorE|(2atH)
625,769,270 +7/100%1.1 48,185
—S2UELI(PS, &2887| &)
46,142,480& +7/100%1 .1 3,553
—SM(SE2H, M2 S)
1,660,406, 71421%11/100%1 .1 200,910
—XHHOIAI A A g
1,766,071,42621+5/100%1.1 97,134
02 SE==29| 1,016,030 927,998 88,032
OV =l 50,000
—CCTV =2l ¥ 0| &X
2,000,000&*103] 20,000
—CCTV Sl d2 4Xl
3,000,000&*103! 30,000
OEAEE 812,700
— Iy 3,100,000 * 13| &% 12 37,200
—2Mg 71,0002 +6802| &+ 12& 579,360
—xSsD, =80
71,0003 *413| &+ 123 34,932
—XEHS 1Al CCTV
71,0003 *1228| &+ 12& 103,944
=&l AXI CCTV 3l
80,0003 02| &+7& 50,400
—THHOHNE ADIEAIE| SEEHS 823
l 572,000 =123 6,864
O&IINER 153,330
— Iy 1,520,000 =123 18,240
—2NY, S0IE
19,0003 #5400 A+ 12& 123,120
=&t 19,0002 x00 K A +7 & 11,970




SN EREAA
BH: OV 2 U 2I(BTEMLOHH/TLLT - 21%9)
s TV 28 & 2l EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
405 Kt SHI 841,500 730,000 111,500
01 ML =ZFSHI 841,500 730,000 111,500
OADIEZMAIAE &4
550,000 *150% 82,500
OME=ZUERE eloles 34
500,000 *100CH 50,000
Ok&® AEX A & &4
145,000,000 14 145,000
OXteHs 2l QIAAAE 2=
44,000,000 *3CH 132,000
Ogtsts ZHl WAl 140,000,000 * 14 140,000
Ol & 2ste WXl
29,000,000 * 14! 29,000
OY A ZotAIAE WA
55,000,000 x24] 110,000
OXISE RAKIIEH HMAAHR 2AAAE 2=
57,000,000 14 57,000
OFAA LS B2l ANAB(FL) 7
96,000,000 14! 96,000
ccrv AXI 1,475,000 1,224,000 251,000
401 AIEHIZ20HYI 1,475,000 1,224,000 251,000
01 Al&Hl 1,475,000 1,224,000 251,000
O=F2&=2 ¢Y¥E v &xl 550,000
— PSS 2lAlE CCTV &XI
10,000, 0002 *20CH 200,000
—=Z 4 CCTV &l AX
5,000,000& *70CH 350,000
OSHs OIS4EE 0V uxd & &7 4X
4.,000,0002 *57CH 228,000
Ok= g4 CCTV Wl
3,000, 000& *40CH 120,000
Osg2Masa ¥ HE|ATR 2F
577,000,000 » 14! 577,000
CCTV SE2MHE &A= 348,213 0 348,213
401 AlEBIZ 200 348,213 0 348,213
01 Al&HI 308,850 0 308,850
Og=Al CCTV SEZNAMEH &=
308,850,000 14 308,850
02 Zeldl 39,363 0 39,363
O Al CCTVSEH2ERIMIE Al
787,241,0009.;4*5/100 39,363
HYS2HGH(ZEEXAA) (DIEH/DIE) 134,644 138,388 A3, 744
JlE2&l 134,644 138,383 A3,744
J|1E23&H| 134,644 138,383 A3,744
201 Ler2 | 39,964 37,948 2,016
01 At 2telt] 39,964 37,948 2,016




SN BREA
. AY2I3HI(S2H A (OIEHIIE
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=AIEXN F
20,0002 x242r A% 123 5,760
OS2 01AHI 9,000 *741x24& x 122 18,144
Otz 100,000 «12& 1,200
OArl =7 50,000& * 122 600
OAare =&l 11,380
—SADI(UE) +el
1,000,000 *1.5CH 1,500
—Zeled| =2l
100,000 *6CH*50/100 300
—SADI EH 200,000& 52| *1.5CH 1,500
—ZRIEDI(S9) &
200, 00024 53| 6L 6,000
—TRIEDI|(23) €
200,000 %52 *1CH 1,000
—PC =2l 100,000 x24CH=20/100 480
—JlEr2l| 50,0002 %128 600
OJIEr Ml
10,0002 x24&x 122 2,880
202 04| 89,280 95,040 A5,760
01 =LHOHI 89,280 95,040 Ab,760
OZLH0iH] 20,0003 x24 B 122« 12& 69,120
O22l04H| 120,0003 x24 &7 20,160
203 HR=H| 4,200 4,200
M A2 LRFEI 4,200 4,200
ORNEgg =AY
350,000 x 122 4,200
204 MR AH| 1,200 1,200
01 SR 1,200 1,200
OXMIA DL HA| (SR HAAE)
100,000 x1&* 122 1,200




